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No| fTRA | LR No| ke | LD
IREST RAFEAE R55FH] IREST RAFEHE R55FH]
IRE3i — — - RIELL — — —
2|18k 705 ET | 70ET | 70EET 42| R ERT — — —
3| — — — 43| L+ LT — — —
4|t T — — — 442 LimT — — —
5|8F LT — — — 45| R ST T5RET | T5ET | THMET
6| AR HLTT 805k £ T — — 46| —E BT — — —
T FT 80/ ET | 80EET | 80EET 47| R T — — —
8|®HF HITH — — — 48| RAEHT 807k ET | 80EET | 80mEET
9 — — — S IEER — — —
10| B H T — — — 50| =AW — — —
11|l — — — 51| ErgHT — — —
12| 4T — — — 52| K% B HT TAKET | THKET | T4KFET
13| E T T0MET | T0REET | T0EET 53 |1 ] — — —
14| HE B — — — 54|SERgHT — — —
15|#a — 80 ET | 80MET
16 |JP5 i i — — —
17 H;EE — — — ERIK S __ ﬁﬁlﬂTjE& _
18]t (LT — — — R3FE#H RAFEHH R5 7]
19\ TR — — — 407% D F» 0 0 0
20| FeFR 11l — — — 455K FT 0 0 0
21|11 — — — 505 £ T 0 0 0
22| 8k A T ET | TOET | 70 ET 555 £ T 1 1 0
23| BT — — — 605% £ T 0 0 0
24| EHET — — — 65 £ T 0 0 0
25T — — — 0 ET 4 4 4
26| DU A T — — — T4 ET 1 1 1
27\ fh iR T — — — 75 £ T 2 2 2
28|\ 1ihi — — — 76k £ T 1 1 1
29|FNPE T — — — 80 £ T 3 3 3
30| AT T6ET | T6MET | 76 ET 1007 £ C 1 1 1
31|EHh — — — FIRZeL 41 41 42
32|F ERaTH — — — it 54 54 54
33|IMEETH T ET | TOET | 70 ET
34| FEUTH T5ET | THMET | THMET
35| 1T — — —
36|\ T ATt — — —
37| L — — —
38|1H % HHT 1007%E T | 1005EFET | 100mEET
39| ZlT 55 E T | BOET —
40 | Fely T — — —




